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When is e.m.f. of a cell is less than its terminal potential difference ?

When the cell is charged by passing electric current from the external source, then the
e.m.f. is less than its terminal potential difference. Because in this case, V = E + Ir.

What do you mean by ‘the e.m.f. of a cell is 1.5 volt” ?

In open circuit 1.5 joule of work is to be done inside the cell by a non-electrical agency
in moving 1 coulomb of positive charge from the negative pole to the positive pole of
the cell.

Why nichrome wire is used in electric heater ?

Nichrome wire is used in electric heater because —

(1) it has high resistivity, so more heat is produced.

(i1) it has high melting point, so does not melt at higher temperature.

(iii) it does not get oxidized when kept open in air.

A metal wire of resistance R is stretched till its length is increased to n-times of the
original length. What will be its new resistance ? Assume volume remains constant.

. . l . :
Initial resistance, R = p " [/ = length, 4 = cross sectional area of the wire]

[p = Resistivity of the material of the wire]
After stretching, R,, = p;_”

As the volume is constant. A = 1,4, =nl4, [~ l,=nl]

A
B An = ;
. : In nl 2 1 2
- Final resistance R, = p-*= = pz =n°p—=n°R
n 4
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